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1 Find the unit digit of the number/SHT T 3% FTq F< ?
532375+ 819%32 + 87777 + 985325~ 11218,
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1312 x 1612 x 183 x 9" find prime factors/sT\TSY [EE<
ATT Y ?

(2) 81
(3)78
(4) NOT
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The largest number which divides 25, 73 and 97 to leave
the same remainder in each case, is:

I a9 q8T G&AT ATT FL S 25,73 X 97 ¥ Al g
I HIT AARA < ?

[a) 24
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If the heights of two cones are in the ratio 1 : 4 and their
diameters are in the ratio 4:5, what is the ratio of their

volumes?
AR A AT R IR 14 F AT H § M IAHh AT 4: 5%
ALATT H &, AV ST AT T AT FAT 87

(A) 2:21
B) 3 : 31
25

(D) 5 : 25

htt_ps://t.m_e/MathbySuryav_eersir_



The chord of a circle subtends an angle 120° at its
centre. The length of the chord is :

T It SaT (99 Fg § 120 © FT HOT FATAT gl v S(ar
Ft dqTE &

(A) ‘/—gtimes of radius

(B)lz+2 times of radils
(C) v3 times of radius
(D) None of these
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From the top of a hill 200 m high, the angle of depression of the top
and the bottom of a tower are observed to be 30° and 60° the height of

the tower is (in m)

200 HeX ST TETET F FUT A, TH T(a< F JIL ML 9 ¥ For 1 Hior 300
#T600 & v etar fr FTs (e H) §

400\/—

(1)

(2)1665

LI
(4) 200 V3
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7 Sin® 0 + cos®0 is equal to :

(1
(2) 3sin“ 0 cos< 0
(3) 1

(4) -1
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8 7 sin?e + 3cos?20 =4

tane =?
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The average weight of 50 balls is 5 gm. If the weight of the
bag be included the average weight increases by 0.05 gm.
What is the weight of the bag in gms?

50 =T T AT TSI 5 TTH g1 IT< ST & For 1 TR fH64qT ST

av 3frEa Ft 0.05 TTH T2AT g1 T HT T ATH A FAT 8?7

(1)5.05
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If the compound interest on a sum for 2 years at 12 %2 % per
annum is Rs. 510, the simple interest on the same sum at

the same rate for the same period of time is

FR2a4F T 12 12 % TR A TFITG AT T 510 grar g, av
THTT AT & Forg FH1 I I FHIT ATA T ATLTI0 AT ¢ 7

(1]Rs. 400 |

(2) Rs. 480
(3) Rs. 450
(4) Rs. 460
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By selling an object for 900 a man earns double the profit of
what he would have lost had he sold it for 450. If he sells it at a

profit of 20%, find his selling price.

000 H TF T&I ol TAFHL U ATSHT IR[AT ATH FHTAT g ST S9N @¥
AT ATV 450 a9 |1 IR a8 T 20% F AT G A=ATQ, A
IqHT AT o AT L ?

1[720]
(2) 618

(3) 550
(4) 600
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If the radius of a right circular cylinder is decreased by 50%
and its height is increased by 60%, its volume will be

decreased by

it Mere Rsie ft Bat 50% F9 B ST ¢ 3% S9ht Hu1e
60% TF qF STAT g, AT AITAT A ATAT S ?

§1§10%

(o)
(3) 40%
(4) 20%
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A father's age is three times the sum of the ages of his two
children, but 20 years hence his age will be equal to the sum of
the ages of his children. The father's age is:

T TOaT T SH IqF A T T I F A1 AT §, AT 20 I 919
IqHT IY Ik IYT T ST & TG gr ATt foar Fr sy F1a w:C
?

(1)B0__yeals

(2) 40 years
(3) 35 years
(4) 45 years
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A bucket contains a mixture of two liquids A and B in the
proportion 7:5. If 9 litres of the mixture is replaced by 9 litres

O of liquid B, then the ratio of the two liquids becomes 7 : 9.
How much of the liquid A was there in the bucket?

TF et § 7: 5 F FuTqd & A T A X B FT fAsor g1 39
At Ao 7 9 e T B ¥ ¥ AT STAT |, AT I A

tmwﬁ3ﬂa3m37tQgrmmTénﬂaﬁﬁf%mﬂﬁRaAuWﬁiigillr;

litre

S
(2) 23
litres
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) 1 A train passed two persons who are walking in the opposite
direction in which the train is moving, at the rate of 5 m/s and
6 10 m/sin 6 second and 5 seconds respectively. Find the length

of the train.

T S 9 7 AT A T fFar s o R A st < g o
AR AR FAM: 5m/s3MX 10 m /s g N 37 6 qshe X 5 q5e

I FHT AT g1 37 it 4TS T g
(1) 125 m

[(2) T5q m
(3) 160 m
(4) 170 m

hitps://t.me/MathbySuryaveersir |



. } SSC CPO/CHSL/CGL TIER Il 2023 1000 QUESTION SERIES ':

1 Two trains of length 100 m and 80 m respectively run on parallel
7 lines of rails. When running in the same direction the faster train
passed the slower one in 18 second, but when they are running in

opposite directions with the same speed as earlier, they pass each
other in 9 seconds. Find the speed of each train.
T it SaTE 100 feT 3T 80 e g s M iR AT R AT Fr e .3 |
TF gl fRUT H STA g4 T A 18 Ao A oAt Aqfig feeamw 9ae & |
T FT AT & AT AT &1 hl T [T Y ?
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Suresh can do a work in 15 days. Suresh and Ramesh together do the
same work in 10 days. If they are paid Rs. 1500 for the work, how should

the money be divided between them?

T 15 1 & TF F19 F qHaT gl I MR Wr e 10 R d wwm & v
LA gl T IR € 1500, F1H *F forg FAerq g AT S T & = 99T 9 afieT
ST FATRW?

(1) Rs. 10000, Rs. 500

(2) Rs. 700, Rs. 800
(3) Rs. 1200, Rs. 300
(4) Rs. 1300, Rs. 200
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A builder decided to build a farmhouse in 40 days. He employed 100 men
in the beginning and 100 more after 35 days and completed the
construction in stipulated time. If he had not employed the additional men,
how many days behind schedule would it have been finished?

TF faeeT 7 40 =T & T wrigew a9 1 Har fFam s geena § 100
T @ FAgse e s 35 fReiT & st 100 3ix e svmre sk v & o
o ) ot s sfefRes gewt i fenfsra =8t B3 grar, v o« i
Rt & s gwTE gar ?

(1) 5 days
(2) 6 days
(3) 8 days

(4)@
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-- 2 Cube and a sphere have equal surface area .the ratio o

O 1 i T T S=rhet T/ & A7 ST STAAT T ST ST |
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